do / dA@ [pDb]

Ratio to CMS

10°

10?

10

0.5

7000 GeV pp

AQ(b-jets) (pTJIe

ad

> 120 GeV, f | <3)

Rivet 3.1.10, = 400k events

u
: . -
B u , ]
— H---o [ | /;,B —
0o LS RRREEEE 3-- [ | PP
___________________ Ty I L <
= T e SRR o =
— m CMS _
— --O-- Herwig++ 2.6.2 default 7]
~  --3-- Herwig 7.2.1 default B
4 Sherpa 2.2.9 default é L
| | | | | | | I R | | ]
:l T T T T | T T T T | T T T :
== —:;;@;”; i
B ULEEE e - b
- ,’/ é"/ P p —
) A S
| " 1 1 1 1 " " 1 ,./ _I " 1 1 " | " 1 1 1 ':. "
0 1 2 3

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

A between two B hadrons



	Contents
	Page 1


